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MURURIA  SECONDARY SCHOOL

FORM 2 MATHEMATICS TUNE UP TERM 1 2015 EXAM    
NAME: ……………………………ADM.NO. …………CLASS:……
Attempt all questions in the spaces provided.

1.  Use the prime factors of 1764 and 2744 to evaluate.  3 mks 



√1764



√2744

2.  The mass of a solid cone of radius 14cm and height 18 cm is 4.62 kg.  Find its density in g/cm3.  3 mks

3.  Evaluate    3 mks 


1/3 of 21/3 + 2/3 (5/3 – 3/2)


¾ of 31/3 ÷ ¼
4.  Simplify





4 mks



45y2 – 20x2



3y2 + xy – 2x2
5.  Solve the inequality below and state the integral values that satisfy it.  4 mks

3 + 3x < 6x + 7 < 2x + 19.  4 mks

6.  The length of a room is 3m more than the breadth given that the area is 270m2.  Find the length and breadth.  3 mks

7.  Simplify   3 mks 


243 -2/5 x 1252/3


9-3/2
8.  The area of a sector of a circle, radius 2.1 cm is 2.31 cm2.  The arc of the sector subtends an angle Q, at the centre of the circle.  Find angle Q.  2 mks 

9.  The sum of interior angles of a regular polygon is 1800o.  Find the size of each exterior angle.  3 mks

10.  A cow is 4 yrs 8 months older than a heifer.  The product of their ages is 8 years.  Determine the age of the cow and that of the heifer.  4 mks 

11.  A minor arc of a circle subtends an angle of 105 at the centre of the circle.  If the radius of the circles is 8.4 cm.  Find the length of the major arc.  (Take     =  22/7)



3 mks

12.  Kamau makes a profit of 20% when he sells a carpet for Ksh.36000.  In a trade fair he sold one such carpet for Ksh.33600.  Calculate the percentage profit made on the sale of the carpet during the trade fair.  3 mks

13.  Expand and simplify.  2 mks 



(x + 2y)2 – (2y – 3)2

14.  
[image: image1.emf]  

15.  [image: image2.emf]
c.  On the grid provided, draw a frequency polygon for the data.  3 mks 
16.  [image: image3.emf]
c.  Calculate the acceleration of the cheetah in:  

i.  the first 10 seconds;






2 mks

ii.  the last 20 seconds.






1 mk

d.  Calculate the average speed of the cheetah in the first 20 seconds.  3 mks 

17.  [image: image4.emf]
c.  the surface area of the pyramid correct to 2 decimal places;

4 mks

d.  the volume of the pyramid correct to 4 significant figures.  2 mks

18.  [image: image5.emf]
19.  Two intersecting circles of radii 8cm and 6 cm respectively have their common chord of length 8cm.  Calculate to two decimal places their common area.  10 mks

